F.2: (Addition and Subtraction Formulas)

If the function y = —3sin 2x — 3cos 2x is written in the form y =
ksin(2x + B), 0 < B < 2m, then the values of k and 8 are

@k=3vZp="
(D) k=-6p==
@©k=3vZp=5
dk=-6p==

4
7

@ k=3V2,p="

Sum of Sine and
Cosine Identities.

T

CsCXx secx

Therange of y =

A) [-mV2, V2]
B) [-v2,V2]
C) [-m, ]

D) [_ﬁ,ﬁ

2
T T

9|33

is:

Sum of Sine and
Cosine Identities.

If the range of the function f(x) = 2 + cos(3x) +

m+n=
A)8
B) 3
C)0
D) 4
E) 6

IS [m, n]. then

Sum of Sine and
Cosine Identities.




If the range of the function f(x) = 4sinx + 3cosx — 1 is [m, n], then
m+n=

(a) -2

(b) -3

(c) -6

(d)-1

(e) -4

Sum of Sine and
Cosine Identities.

The minimum value of the function y = 2 — +/3sin 2x + cos 2x is

equal to

A) 0
B) -1
C) 1
D) 2
E)-2

Sum of Sine and
Cosine Identities.

The expression 2sin - — 2v/3cos can be written as

A) 4sin (g — g)
B) 2v3sin (X + %)
C) 4sin (x + 2?7:)
D) 2sin (g + g)

E) 2sin (2 — 2?7:)

Sum of Sine and
Cosine ldentities.




If cos (17—”) _ Yaib

,thena + b =

A) 4
B) 5
C)8
D) 7
E) 6

Sum of Sine and
Cosine Identities.

If cos(x +y) =1, and cos(x —y) = 1, then cos xcos y =
(a)1

(b) -1

(c) 2

(d) -2

(e) 0

Sum of Sine and
Cosine Identities.

If the function y = %sin G x) - \/2_5 cos G x) + % Is written in the form
y = ksin(bx +a) +c,thenk+b +c =

A)7

B) 6

C)5

D)4

E)9

Sum of Sine and
Cosine Identities.

If the function y = —sin 2x — +/3cos 2x is written in the form y =

ksin(2x + a),0 < a < 2m, then the value of a is
AT
B) =
)=
D)~

E)-3

Sum of Sine and
Cosine ldentities.




If f(x) = —2sin (nz—x) + 2+/3cos (%x) then the phase shift of the graph

of f(x) is equal to

4
NS

B) -3

C)-3
D) 2

4

4
E)E

Sum of Sine and
Cosine Identities.

V3

sec(2x)

If the range of the function f(x) = 3 + sin(2x) + is [m, n] then

m+n=

A) 6
B) 3
C) 10
D) 4
E)8

Sum of Sine and
Cosine Identities.

If the graph of y = —sin 2x + v/3cos 2x has a period P and amplitude
A thenP - A =

A) 2m
B)~
C)2
D)m
E) 3m

Sum of Sine and
Cosine Identities.




If £(x) = sinmx + +/3cos mx is written as f(x) = ksin(bx + c), then
the range R and the period P of f(x) are

A)R=[-22]and P =2
B)R=(-22)andP =1
C)R=[02]and P =2
D)A=[02]and P =1
E)A=[-22]and P = -2

Sum of Sine and
Cosine Identities.

The range of the function f(x) = sin 3x — %Cos 3x —1is

A)

~

S w AR NI B w

B)

~-

C)

-

D)

~

NN TN TR TN

m
N—r

SR
| S

Sum of Sine and
Cosine Identities.

If the function y = 3sin x + 3+/3cos x is written as y = ksin(x + a),
thenk + a =

A)6+=

3
B) 6 + =

3
C)3+2Z

3
D)3V3 +2

E)6v3+2

Sum of Sine and
Cosine Identities.




If sin40° 4+ cos 40° = ksin 8, then

A)k =+2,p =85
B) k =2, = —45°
C)k =2,p =40°
D) k = 2,8 = 80°
E)k=2 8 =-80°

Sum of Sine and
Cosine Identities.

The graph of the function f(x) = —sinx — cosx, —

increasing on

R

5T 71r

A) -5 and [T

[ 7w 31 Sum of Sine and
B) s Cosine Identities.

[t 77
8 iy

[t 57T
D) |37
E) E%ﬂ and [5" 7”]
Ify= Zsinx — , then it can be written as:

2 2secx

A) y = sin(x — 60°)
B) y = 2sin(x + 60°)
C) y = sin(x — 30°)
D) y = sin(x + 30°)
E) y = 2sin(x — 60°)

Sum of Sine and
Cosine Identities.




The minimum value of the function f(x) = — gsinx - icos x 1S

A) -1
B) 0

c)-8

2
1

D) -2

_\/5_1
2

E)

Sum of Sine and
Cosine Identities.

If f(x) = Zsing - 2\/§cos§ is written in the form Asin(Bx + C) where

A>0,B>0and - < C <0, then the graph of f has:

A) Amplitude 4, phase shift r units to the right.
B) Amplitude 2, phase shiftg units to the right.

C) Amplitude 4, phase shift 7 units to the left.
D) Amplitude - 4, phase shiftg units to the left.

E) Amplitude 2 + 2+/3, phase shift 7 units to the left.

Sum of Sine and
Cosine Identities.

If cos 55° — sin 55° = kcos 8, where k > 0and 0 < 6 < 180°, then
() k =2, 8 = 100°

(b) k=2, 6 =100°

) k=2, 0=80

d)k=+2,6=70

() k =2, 8 = 120°

Sum of Sine and
Cosine Identities.




(tan -j_’;) (tan3)

A) 3+ 2v3
B)2++/3
C)2+3V2
D) 2+/3
E) 312

Addition/Subtraction
Identities.

The value of the expression sin 27°cos 57° — sin 63°cos 33° is equal to

A) -=
B) -2
c)0
D)

V3
E)?

Addition/Subtraction
Identities.

. (11n)_
an )=

A)V3 -2
B)vV3 -1

V3-1
C) —

D)1-+3
E)2-+3

Addition/Subtraction
Identities.




] 1
sin cos_1§+ tan”1(-3)| =

A) (3 -3)
B)%(\E+3)
) (3 -3)
D) X (2v3 - 1)
E) 2 (3 - 3)

Addition/Subtraction
Identities.

(ﬂ+t n‘13)—
cos( +tan"! ) =

A) 2

2
10

B)

Juy
olw

V2
C)T

D)

NS

V3
E)7

Addition/Subtraction
Identities.

If A is the amplitude and P is the period of the function y =

cos 3xcos x — sin 3xsin x, then TA + 2P =

A) 21
B) 0
C) 4r
D)r
E) 3m

Addition/Subtraction
Identities.




Addition/Subtraction
Identities.

3n T

Cc0S—sin— — sin—sin—

57710
A) -1
B) 1
3
C):
3
D) -3
E)0

Addition/Subtraction
Identities.

3
sin (tan‘1 7 + cos™t

63
A) e

63
B) —=

)=

65

33
D) =

33
E) -

Addition/Subtraction
Identities.




) 4 3 5 3
Ifsma=g,—?n<a< —m,and cos f = —%,n<ﬁ <77T,then

cos(a + ) =

3v5
A) e
3V5
25
118
25

B) —
C)

V5
D)_E

145

E) %

Addition/Subtraction
Identities.

If tan a =§and tan f = —2, then cot(g—a+,8) =

Addition/Subtraction
Identities.

7
A)_Z
1
B)—g
4
C)—;
D) -8
E) -2
If cosa =i5,0 <a <§and cosf3 =\/%_0,37”<ﬁ < 2m, then tan(a —
B) =
A) -1
1
B)—;
1
C);
1
D)E
E) —=

Addition/Subtraction
Identities.




T 5 5 .. .
If cos (E — a) =3 and secff = -3 where «a is in quadrant  and 3 is

in quadrant 11, then cos(a + B) is equal to

A) -2
B) —=
C)——
D) 22

33
E) =

Addition/Subtraction
Identities.

If sin"!x — sin™? (— %) =tan"1(—3), then x =

p) -2
B) - 21
c) 20
D) 210
E) 3V10

Addition/Subtraction
Identities.

If tana = ;and tan f = —2, thentan(a — p) =

A) -2
B)
C)—=
D)+

1

E)Z

Addition/Subtraction
Identities.




- /3m 3
sin (— + 9) + cos (

2

A) —sin6 — cos 8
B) cos 6 — sin 6
C)sinf — cos 6
D) —2sin @

E) sin6 + cos @

Addition/Subtraction
Identities.

tan 105° =

A) -2 -3
B) V3 -2
0%

1+/3
4

E)2v3 -1

D)

Addition/Subtraction
Identities.

sin 70°sin 50° — sin 20°sin 40° =

A) =

B)

SEE

c)-8

D)

E) -2

Addition/Subtraction
Identities.




If s and t are angles in standard position, with sins =

ul |

,§<s<n,and

5 . . ..
cost=——,T<t< 37” then the terminal side of the angle s + t is in

the quadrant(s):

A)l
B) I
C) IV
D)Iorll
E) Il or Il

Addition/Subtraction
Identities.

an () o () -

A)e_

63
B) =

33
5

C)é
D)i3

1

33
E) —=

Addition/Subtraction
Identities.

. 1+tan 100°tan(—80°) .
The expression IS
tan 100°—tan(-80°)

A) undefined
B) equal to O
C) equal to -1
D) equal to 1
E) equal to —v3

Addition/Subtraction
Identities.




4 12
If cosa = — o Where§< a < mand cos(g—ﬂ) =-0 where T <

B < 37” then sin(a + ) is equal to

Addition/Subtraction
B) —— Identities.

13 2T
1-— tanTtan? B

131 2T
tanT + tan?

V3
A) ——
3 Addition/Subtraction
B) CotllT” Identities.

C) —cotllT”

D) —tan MTH

E)V3

cos(255°) =
(8) ¥

(0) \/ar/z

(02

(@)
V2+J6

(6) =

Addition/Subtraction
Identities.




The exact value of Z=S2t70)0tE) 4o o qual to

tan(20°)+cot(80°)
(@) V3
(b) 242
(©1
@2

Addition/Subtraction
Identities.

©2




